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UMMARY  TABLE 1 Effects from Factors That Shift the

Autonomous
Change
Factor inFactor  Response Reason
Consumer t rhit cloyits
expenditure, C I5shiftsright
Investment, [ t rhit Moyt
I5shifts right
Government. t rhit Gloyats
spending, G I5shifts right
Taes, T t rhil  Theclsvio
15shifts et
Net exports, NX t rhit NXTo vt
I5shiftsright
Money supply, M t il Mr=ils
IMshifis right
Money demand, M riit M
IMshifisleft

Nk rly e (1) i the s v . The el of e i e s would et
s
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FIGURE 6
Effectivenass of
and Fiscal
en Money
Demand Is Unaffected
the Interest Rate
en the demand for
money is unaffected by
the interest rate the
LM cunves verial In
panel (2), an expansionary
fisca polcy (increase in
government spending or
a cutin taxes) shifts the.
IScune from 15, o5,
and leaves aggregate
ouput unchanged at Y,
I panel (b),an incease
in the money supply shifs
the LM cune from LM, to
b, and raises aggregate.
outputfrom ¥, fo ¥y
Therefore, monatary
policy is ffectve, but
fiscal polcy s not.
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FIGURE 7
Money Supply and
Interest.Rate Targats
When the IS Curve
Is Unstable and the
LM Curve s Stable
The unstable 5 curve
fluctuates between 5"
and 5" The money
‘upply target produces
‘smallerfuctuations in
output (VoY) than
the interest.rata targat
(¥jto Y). Theefore, the
money supply arget is
prefored.
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FIGURE 8
Money Supply and
Interest.Rate Targets
When the LM Curve
s Unstable and the
15 Curve I Stable
The unstable LM curve
fuctuates between LA
and LA The money
‘Supply target then
producs bigger
fluctuations in output
(¥ to ;) than the.
inferestfte target
(which leaves output
fixed at ). Terefore,
the interestrate target.
is prefarred

Famt Money Suppy Target
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FIGURE 9 The ISLM Model in the Long Run

in panel (2), a i i the money supply causas the LM curve to shitt rightard to LA, and the
equiibium moves to point 2, where the inarest rate als o / and output rses to ¥, Becausa
output at , is above the natural rate lvel Y, the price level rise, the real money supplyflls,
‘and the LM curve shifs back to ,; the economy has ratumed to the original equiibrium af
point 1. In panel (b), an increase in goverment spending shifs the 5 curveto the rght o 5,
and the aconomy moves to point 2, at which the intaest rate has risen toF and output has
1ien o Y, Because output at Y s above the natural ate leve Y, the prica evel egins torise,
real money balances M/P begin to fal, and the LM curv shifs t the left o Lt The long-run
‘aquiibrium at point 2" has an even higher interest rateat £, and output has refumed o ¥,
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FIGURE 1

shift in the IS Curve
The IS curve will shift
from 15, to IS, as a result
of (1) an increase in
autonomous consumer
spending, (2) an increase
in planned investment
spending due to business
optimism, (3) an increase
in goverment spending,
(4) a decrease in taxes,
o (5) an increase in net
exports that is unrelated
to interest rates. Panel (b)
shows how changes in
these factors lead to the
tightward shift i the /5
curve using a Keynesian
ross diagram. For any
given interest rate (here
i), these changes shift
the aggregate demand
function upward and raise
equilibrium output from
Yito ¥y
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(b) Effect on goods
market equilibrium
when the interest
rateisiy
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(@) Shift of the LM curve (b) Effect on the market for money when
agaregate output is constant at Y

FIGURE 2 shiftin the LM Curve from an Increase in the Money Supply
The LM curve shifts to the right from LAY, to LM, when the money supply increases because,

as indicated in panel (b), at any given level of aggregate output (say, ¥,), the equilibrium interest
rate falls (point Ato A').
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FIGURE 3 Shiftin the LM Curve When Money Demand Increases
The LM curve shifstothe left rom LM, to LM, when money demand incraases because,
asindicated i panal (b), atany given level of aggregate output (sa, Y, the equilibrium
interest raterses (point Ao A).
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FIGURE 5

Response of Aggregate
Output and the Interest
Rate to an Expansionary
Fiscal Policy
Expansionary fiscal policy
(arise in government
spending or a decrease in
taxes) shifts the IS curve
to the right from /5, to IS,;
the economy moves to
point 2, aggregate output
increases 1o ¥,, and the
interest rate rises to /.

Interest Rate, i

Lmy
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FIGURE 4
Response of Aggregate
Output and the Interest
Rate to an Increase in
the Money Supply

The increase in the money
supply shifts the LM curve
to the right from LM, to
LM,; the economy moves
to point 2, where output
has increased to ¥, and
the interest rate has
dedined to i

Interest Rate, i

Aggregate Output, ¥/





